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1. 5 AR : [ V1 + cos2x dx. (1)
2. IC A 3R B3 wWdd geU &, 3R P(A) = 0.2 3R P(B) = 0.5 iR a9 P(AUB) &1 #11
ST I | (1)
3. 9fe f:R—R, f(x) = x2—5x + 7 &, @ F1(1) & & e ARAY | (2)

4. If & B @1 <1 o] afeer (7+27j+2k" qr 3i7-27j+k" | a8 dr g
BT &G ST DI | (2)

5.\ 2tan-(sinx) = tan-1(2 secx),0 < x < T/, &1 wa I (3)

6. 9% y=xX2 - 2X + 3 & T YT PBT FHIHROT ST HISTT SIf W& 2X—y+9=0F
AR B | (3)

7. oy fafy & f=foRad YRaw IR 89T &1 JIfPHaHeRT & U 8 B
S5 W= Z = 1000x + 600y

AR X +y < 200
dx-y<0
x =20, x=0,y20. (3)
8. (logx)* + x'°8% oy x & WET Sfadher ST BT | (6)
T xdx %&
9. fO a?cos?x+b?sin?x T AT oA l (6)

10. =1 9t ASIRBTRT 21 Il AH 2 @11 3R 3 Brell 1< € | [l Us el ¥ | Aqrgesdl
T T prell g & Sl & offel &1 &1 8| 39 91 1 @1 yildiehar © fb I8 7 Il B
# ¥ Aol 7€ 8 ? (6)



